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 موجب، أي  𝑙𝑛المقام لا يساوي صفر ومدخل   (1) أ 1

 
−𝑥 > 0 

 
𝑥 < 0 

 
   (2)  

𝑓′(𝑥) = 0 
 

ln(−𝑥) + 2 = 0 
 

ln⁡(−𝑥) = −2 
 

−𝑥 = 𝑒−2 
 

𝑥 = −𝑒−2 
 

(𝑓′(−1) < 0) 

 
 
 
 
 
 

𝑒−2−الدالة تصاعدية  < 𝑥 < 𝑥وتنازلية في  0 < −𝑒−2 
 

  (3) 

𝑓′′(𝑥) = (
ln(−𝑥) + 2

𝑥
)

′

=

−1
−𝑥 ⋅ 𝑥 −

(ln(−𝑥) + 2)

𝑥2
=
−(ln(−𝑥) + 1)

𝑥2
 

 

−(ln(−𝑥) + 1) = 0 
 

ln(−𝑥) = −1 
 

𝑥 = −𝑒−1 
 

−𝑒−2 
0 



   
 
 
 

 
 
 

𝑓′′(−1) < 0, 𝑓′′(−𝑒−2) > 0 
 
 
 
 
 
 

𝑒−1−لذلك مجال التقعر لأعلى هو  < 𝑥 < 𝑥ومجال التقعر لأسفل  0 < −𝑒−1. 
 

  (1) ب 

lim
x→−∞

𝑓′(𝑥) = lim
x→−∞

ln(−𝑥) + 2

𝑥
= lim

x→−∞

ln(−𝑥)

𝑥
= 0 

 

lim
x→0−

𝑓′(𝑥) = lim
x→0−

ln(−𝑥) + 2

𝑥
= ∞ 

 
 

  (2) 𝑓′(−𝑒−1) = −𝑒 
 

 
 

 
    
𝑔(𝑥)نرمز ل  (1) ج  = ln(−𝑥) + 2 . 

 𝑔′(𝑥) =
1

𝑥
 . 

𝑓′(𝑥)لذلك   = 𝑔(𝑥) ⋅ 𝑔′(𝑥) 

𝑓(𝑥) = ∫𝑓′(𝑥) 𝑑𝑥 = ∫𝑔(𝑥)𝑔′(𝑥) 𝑑𝑥 =
𝑔(𝑥)2

2
+ 𝐶 =

1

2
(ln(−𝑥) + 2)2 + 𝐶 

 
𝑓(−𝑒−2) = 0 

=
1

2
(−2 + 2)2 + 𝐶 

 
𝐶 = 0 
↓ 

𝑓(𝑥) =
1

2
(ln(−𝑥) + 2)2 

 

−𝑒−1 ⁡0 
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